C:# Finding Product (3 x 3) Name:

Solve each problem. Answers
1) A movie theater sells 233 buckets of popcorn aday. If each bucket has 889 pieces of
popcorn in it, how many pieces do they sell in aday? 1
2.
2) A golf course driving range goes through 304 golf balls a day. How many golf balls would
they go through in 288 days? 3.
4.
3) A fundraising company went to 625 different schools delivering 829 boxes of candy to
each school. How many boxes did they deliver total ? 5.
6.
4) A farmer has 741 rows of corn. If he can get 258 ears of corn from each row, how many
ears of corn would he have total ? 7.
8.
5) A lawn mowing company had 421 customers. If each customer paid 845 dollars a year,
how much money would they make? 9.
10.

6) A racewas 743 meters. |If 562 people ran in the marathon how many meters would they
have run total?

7) A coat manufacturer puts 397 coatsin a shipment. If they sent out 111 shipments, how
many coats would they have sent out?

8) A pizzachain uses 693 grams of cheese on their pizzas. If they sold 324 pizzas, how many
grams would they have used?

9) A new library received 919 boxes of books with 421 books in each box. How many books
did the library receive total ?

10) Every hour a soup company produces 706 liters of soup. How much soup would the
company have made after 256 hours?
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ﬂh Finding Product (3 x 3) Name: Answer Key

Solve each problem. Answers
1) A movie theater sells 233 buckets of popcorn aday. If each bucket has 889 pieces of
popcorn in it, how many pieces do they sell in aday? 1 207,137
2. 87,552
2) A golf course driving range goes through 304 golf balls a day. How many golf balls would
they go through in 288 days? 3. 518,125
4 191,178
3) A fundraising company went to 625 different schools delivering 829 boxes of candy to
each school. How many boxes did they deliver total? 5. 355,745
6. 417,566
4) A farmer has 741 rows of corn. If he can get 258 ears of corn from each row, how many
ears of corn would he have total ? 7. 44,067
g. 224,532
5) A lawn mowing company had 421 customers. If each customer paid 845 dollars a year,
how much money would they make? 9. 386,899
10. 180,736

6) A racewas 743 meters. |If 562 people ran in the marathon how many meters would they
have run total?

7) A coat manufacturer puts 397 coatsin a shipment. If they sent out 111 shipments, how
many coats would they have sent out?

8) A pizzachain uses 693 grams of cheese on their pizzas. If they sold 324 pizzas, how many
grams would they have used?

9) A new library received 919 boxes of books with 421 books in each box. How many books
did the library receive total ?

10) Every hour a soup company produces 706 liters of soup. How much soup would the
company have made after 256 hours?
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C:# Finding Product (3 x 3) Name:

Solve each problem. Answers
180,736 44,067 207,137 224,532 191,178
87,552 518,125 386,899 355,745 417,566 1.
1) A movie theater sells 233 buckets of popcorn aday. If each bucket has 889 pieces of 5
popcorn in it, how many pieces do they sell in aday? '
3.
2) A golf course driving range goes through 304 golf balls aday. How many golf ballswould
they go through in 288 days? 4.
5.
3) A fundraising company went to 625 different schools delivering 829 boxes of candy to
each school. How many boxes did they deliver total ? 6.
7.
4) A farmer has 741 rows of corn. If he can get 258 ears of corn from each row, how many
ears of corn would he have total ? 8.
9.
5) A lawn mowing company had 421 customers. If each customer paid 845 dollars a year,
how much money would they make? 10

6) A racewas 743 meters. If 562 people ran in the marathon how many meters would they
have run total?

7) A coat manufacturer puts 397 coatsin a shipment. If they sent out 111 shipments, how
many coats would they have sent out?

8) A pizzachain uses 693 grams of cheese on their pizzas. If they sold 324 pizzas, how many
grams would they have used?

9) A new library received 919 boxes of books with 421 books in each box. How many books
did the library receive total ?

10) Every hour a soup company produces 706 liters of soup. How much soup would the
company have made after 256 hours?
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